
   Start Framing Here
   BCI 4500 & 6000 24" O.C.

   S
tart F

ram
in

g
 H

ere
   1

4
" B

C
I 6

0
0

0s -1
.8 S

P
 @

 1
9.2" O

C
   S

ta
rt F

ram
ing H

e
re

   1
4" B

C
I 6

00
0s @

 24"O
C14" BCI 6000s

14" BCI 6000s

14" BCI 6000s

14" BCI 6000s

14" BCI 6000s

1
4"

B
C

I
6

0
00

s

1
4"

B
C

I
6

0
00

s

1
4"

B
C

I
6

0
00

s

1
4"

B
C

I
6

0
00

s

1
4"

B
C

I
6

0
00

s

1
4"

B
C

I
6

0
00

s

1
4"

B
C

I
6

0
00

s

1
4"

B
C

I
6

0
00

s

14" BCI 6000s

14" BCI 6000s

14" BCI 6000s

14" BCI 6000s

14" BCI 6000s

14" BCI 6000s

14" BCI 6000s

DB-1

DB-3 DB-2

14

RM-1

RM-1

Bk1Bk1Bk1Bk1Bk1Bk1Bk1Bk1Bk1Bk1

Bk
1

Bk
1

Bk
1

Bk
1

Bk
1

Bk
1

Bk
1

Bk
1

Bk
1

Bk
1

Bk
1

Bk
1

Bk
1

Bk
1

Bk1Bk1Bk1Bk1Bk1Bk1

RM-1RM-1

RM
-1

RM
-1

RM
-1

RM
-1

RM-1

RM-1

1

1010

2

3

1111

4

12

2322222224

4

24

67

24

20

23 5

14

15

15
9

1615

13

21

18

17

18

18

18

18

18

18

18

19

88

8

H
1

H3 H
3

H
4

H
3 H
1

H2

H1

H
4

H3

H
1

H2

H3

H2

H
4

2' 0" 1'
 0

" 

1' 8"1'
 4

"

2' 0" 

7'
 2

 3
/4

"

14
' 3

 1
/4

"

3'
 7

 1
5/

16
"

4'
 3

 7
/1

6"

3' 10 11/16"

7' 7 3/16"

1'
 8

"

Products
PlotID Length Product Plies Net Qty Fab Type
1 24' 0" 14" BCI® 4500s-1.8 1 1 MFD
2 24' 0" 14" BCI® 4500s-1.8 1 1 MFD
3 24' 0" 14" BCI® 4500s-1.8 1 1 MFD
4 24' 0" 14" BCI® 4500s-1.8 1 2 MFD
5 18' 0" 14" BCI® 4500s-1.8 2 2 MFD
6 17' 0" 14" BCI® 4500s-1.8 2 2 MFD
7 17' 0" 14" BCI® 4500s-1.8 2 2 MFD
8 17' 0" 14" BCI® 4500s-1.8 2 6 MFD
9 8' 0" 14" BCI® 4500s-1.8 2 2 MFD
10 7' 0" 14" BCI® 4500s-1.8 1 2 MFD
11 7' 0" 14" BCI® 4500s-1.8 1 2 MFD
12 7' 0" 14" BCI® 4500s-1.8 1 1 MFD
13 5' 0" 14" BCI® 4500s-1.8 1 1 MFD
14 5' 0" 14" BCI® 4500s-1.8 2 2 MFD
15 4' 0" 14" BCI® 4500s-1.8 1 3 MFD
16 3' 0" 14" BCI® 4500s-1.8 1 1 MFD
17 38' 0" 14" BCI® 6000s-1.8 1 1 MFD
18 38' 0" 14" BCI® 6000s-1.8 1 8 MFD
19 38' 0" 14" BCI® 6000s-1.8 2 2 MFD
20 20' 0" 14" BCI® 6000s-1.8 2 2 MFD
21 19' 0" 14" BCI® 6000s-1.8 1 1 MFD
22 19' 0" 14" BCI® 6000s-1.8 1 3 MFD
23 18' 0" 14" BCI® 6000s-1.8 1 2 MFD
24 18' 0" 14" BCI® 6000s-1.8 1 3 MFD
14 4' 0" 14" BCI® 4500s-1.8 2 2 MFD
RM-1 12' 0" 1" x 14" BC RIM BOARD OSB 1 16 MFD
Bk1 2' 0" 14" BCI® 4500s-1.8 1 27 MFD

Connector Summary
PlotID Qty Manuf Product
H1 4 Simpson IUS1.81/14
H2 3 Simpson IUS1.81/14
H3 5 Simpson IUS2.37/14
H4 3 Simpson IUS3.56/14

Panel
Bundle Label Length Height Thickness Stud Size Load Bearing Sheathing Fab Type
N/A 1 23' 10 3/8" 8' 1 1/8" 3 1/2" 2x4 SPF Stud LB N/A FF
N/A 2 19' 5" 8' 1 1/8" 3 1/2" 2x4 SPF Stud LB N/A FF
N/A 3 3' 2 3/4" 8' 1 1/8" 3 1/2" 2x4 SPF Stud NLB N/A FF
N/A 9 2' 4 1/2" 8' 1 1/8" 3 1/2" 2x4 SPF Stud NLB N/A FF
N/A 10 6' 3 1/2" 8' 1 1/8" 5 1/2" 2x6 SPF Stud NLB N/A FF
N/A 11 5' 10" 3' 6" 3 1/2" 2x4 SPF Stud NLB N/A FF
N/A 12 4' 9 1/4" 8' 1 1/8" 3 1/2" 2x4 SPF Stud NLB N/A FF
N/A 13 2' 5 1/2" 8' 1 1/8" 3 1/2" 2x4 SPF Stud NLB N/A FF
N/A 15 3' 10" 8' 1 1/8" 3 1/2" 2x4 SPF Stud NLB N/A FF
N/A 16 3' 6 1/2" 8' 1 1/8" 3 1/2" 2x4 SPF Stud NLB N/A FF
N/A 17 3' 6 1/2" 8' 1 1/8" 3 1/2" 2x4 SPF Stud NLB N/A FF
N/A 18 1' 8 1/2" 8' 1 1/8" 3 1/2" 2x4 SPF Stud NLB N/A FF
N/A 20 6' 5 3/4" 8' 1 1/8" 3 1/2" 2x4 SPF Stud LB N/A FF
N/A 22 13' 8 1/4" 8' 1 1/8" 3 1/2" 2x4 SPF Stud LB N/A FF
N/A 23 12' 8" 8' 1 1/8" 3 1/2" 2x4 SPF Stud LB N/A FF
N/A 24 3' 6 1/4" 8' 1 1/8" 3 1/2" 2x4 SPF Stud LB N/A FF
N/A 26 8' 9 1/2" 8' 1 1/8" 3 1/2" 2x4 SPF Stud LB N/A FF
N/A 51 2' 4" 8' 1 1/8" 3 1/2" 2x4 SPF Stud NLB N/A FF
N/A 52 2' 4 1/2" 8' 1 1/8" 3 1/2" 2x4 SPF Stud NLB N/A FF
N/A 56 3 1/2" 8' 1 1/8" 3 1/2" 2x4 SPF Stud LB N/A FF
N/A 58 6' 0" 8' 1 1/8" 3 1/2" 2x4 SPF Stud NLB N/A FF
N/A 62 1' 3 3/8" 8' 1 1/8" 3 1/2" 2x4 SPF Stud NLB N/A FF
N/A E1 2' 0" 9' 1 3/4" 3 1/2" 2x4 SPF Stud LB N/A FF
N/A E2 1' 8 1/2" 9' 1 3/4" 3 1/2" 2x4 SPF Stud LB N/A FF
N/A E3 18' 3 1/2" 8' 1 1/8" 3 1/2" 2x4 SPF Stud LB N/A FF
N/A E4 41' 5" 8' 1 1/8" 3 1/2" 2x4 SPF Stud LB N/A FF
N/A E5 6' 11" 8' 1 1/8" 3 1/2" 2x4 SPF Stud LB N/A FF
N/A E6 22' 10 1/2" 8' 1 1/8" 3 1/2" 2x4 SPF Stud LB N/A FF
N/A E7 2' 0" 9' 1 3/4" 3 1/2" 2x4 SPF Stud LB N/A FF
N/A E14 5' 0" 8' 1 1/8" 3 1/2" 2x4 SPF Stud LB N/A FF
N/A E15 14' 9" 8' 1 1/8" 3 1/2" 2x4 SPF Stud LB N/A FF
N/A E17 20' 6 1/2" 9' 1 3/4" 3 1/2" 2x4 SPF Stud LB N/A FF

60
0

0
R

o
zz

e
lle

's
F

er
ry

R
o

a
d

C
h

ar
lo

tt
e,

N
C

2
8

21
4

(7
04

)
39

3-
14

56
F

ax
(7

04
)

39
2-

1
33

1

Revisions: BY:

Second Floor Layout

BC FRAMER II

Scale: NTS

Arch Date: 2/28/2020
Struc Date: 11/30/2018

File:

Sheet: 2/2

DWG:The Wilmington

Squash Blocks Required
Under The Ends Of All LVL
And Point Loads For Load

Transfer - See Details

All I-Joist and Versa-Lam Beams
Must be Installed per The

Boise Cascade Installation Guide!

Designer: GAT

D
R

 H
o

rt
o

n
T

h
e

 W
ilm

in
gt

o
n

 S
la

b
 C

8
4

 L
u

m
b

e
r 

C
o

m
p

a
n

y
 

C
h

a
rl

o
tt

e
.

N
o

rt
h

C
a

ro
lin

a

DR Horton
The Wilmington Slab C

24 Woodgrove


